Friendship Jr. High School
Accelerated Math Program

Algebra

In today’s busy
world, relaxation is
practically a lost
art form . ..

UNIT #1
Foundation Skills

UNIT #2
Solving Equations
| - UNIT #3
Solving Inequalifies







Foundation SKills
Lesson 1 l1

PROPERTIES OF REAL NUMBERS

Commutative Property of Addition G.+b = b+a
Commutative Propecty of Mulhplication ab = ba

Associahive Propecty of Addition o+ (bic) = (atbl+c
Associative Property of Mo Hiplication a (o) = (ah)c
Addirive Tdentiy a+0O =a

Mo l+ip){c¢five Tdentiy (V) = a

Bdditve Inverse () + (o) =0

Mo HHpWcative Tnverse ) (Vo) = |

Closure 3,5+ 2.1 = a rahomwd .
Zero Property @)(0) =0

Digrdihutve Peo 93(‘\3 a(bt+d)= ab+ac

PROPERTIES OF EQUALITY

Reflexive Propecty of Equality . a=a
Subshtohion Property oF Eq Ua\ﬁ}j Ja = 3%
Symmetric Propecty oF Equality TF a=b, then bza
Transitive ?rbped‘j of Lguality IF a=b and b=C,

+hen a=C

-|-




Lesson 1 .2

ALGEBRAIC EXPRESSIONS
& PROBLEM SOLVING

Write an a{%ebm\c
exp(ession  each

1@ A number decreased by

+hree
n-3

2@ Foor move than fFive
Hmes g Numbe

E5n+4+ 4“4

2@ The produd‘ of two less
than a Number and
Five move tHhan twice
+he ium ber

(h-2)Gn +5)

Def jne a VO\(‘\G.B\Q estab”
lish & Key, and So\ve

H® Three times o number
decvreased by Seven s
wgn*—j-—S:x Cind the

num bev.
N = the number

2n-7= 26
An =33
N =1\

1

5®@The Sum of Johnk age and
Glenwns age s twenty ~two,
Five years from now, John
will b2 three +imes as old
as Glenn., How old witl CE)PM
be fwo Years fom nNow 7

Now In oS
Johwn  z22-n 27-n
Glenn n n+ s

27-n = 3 (n+5)
27-n = 3n+15
i = Bn '

n==>
Tohn now (22-n) =19

T two years: |4+2= 2
2| vears old

6® Dean 1s Seven yeacs older

+han Jercy., Five Years
age, Jexrcg was hatd Dean’s

age, How old was Jerry
loet Year ?

Now 5 ago
Dean N+7 N+
Jexry N n-3

N+ = 2(n-5)
nN+2= 2n-10

12 =1
p Now {(N)=12
lost year: 12-121]
Il vears old} -




Leéson 1 .3

EVALUATING & SIMPLIFYING
ALGEBRAIC EXPRESSIONS

Evaluaie och expression:
a==~l, b=-3, ¢=2

l® 3ab -c*

EICEIR 6
(@)-(4) =

28 3 (2a-b)-ac
3(2(-1) ~(=2)) DD
3 (t2)+3) ~ (-2)
2 ¥ ) =15

20 -2o°b
o*c
2ENEB) | ~21)(3)
DR T 0R)

“__Qa.z.__:,

WHERE
ARE YOU

GOING?
TROLLING
FOR DPOGS
)

Ooo

SimphRy each expression:
H® S5x-2y -2Ax + 9y
2%+ 64y

5@ 3(xt2y)-4H(@x~y)

2% + by - 8x +'-+g
-5x +104|

® Hoz- 26 (arb)-2ab

Hor - xax- oo -3ab
202 - 5Sab

A QX(&X"Ej')—%g (A+ 23)
Gx* - 2%y - 3xy - by*
[ex-5xy - 642]

20- Ha%-3a(20-b) + 20 (G-3b)

Ho2-Go2 + 3 b +2ar~Gab
~3ob




1 |1 Problems

IDENTIFYING PROPERTIES

Tdentify the propecty:

O If a=7 and T=e ,+hen
o=@

QD 1502+0 =i5a%
@ a(be) = (ab)c
@ AXF Y = Y+ A
® Cxa—g)z = (x+9)©
© = 2 t2y*

@ 3a (a+ 2b)= 3>+ 6ab
® If x=y then 9=X
@ 20*b 0 =0

® 2,03 +47 =a rational 1.
M Hax*y = 7* xNy

@ xy=9x

@ (Hab) + (-Hab) =0
@ n+neP) = (rrm) + P
®) Bx y* = CI)Cng’-)
© ab + Cewd)= ab +(d+¢)

@ TP 2n2 =ab and ab 3¢,
'Hﬂ@.n an"

H(xy?) = (Hx)y>
@ 3 (a-b) = 3(20-b)
€ a*—3ab =a (a-3b)
@ O = (0)(-3xy)

@) I a+b =, +hen

2(o4+0) -\ = 3c-|
@ O = C-—Saz) + 50\2'

EVERYTHING wOU
DO ANNOWS ME

@D (20-0)(1) = 2a-b

@8 % + (y+=) = (Yr2)+X
G (2n)(n-1)= -1)(2n)
& ab + (berd) = (ab+b)+d
€ (~9)2) = an mieger

G TF 2nm*=3x, +hen
A= 2nm*

ey @an(“slg):\‘
@) Ha + 12 = 12+ Ha
G 9vm = O+ 9nm

(conHinved) -







@ 24 xy —b = 2%y~ (2-2) Deftine a variable, establish
@ 2ok S oo, a key Cas needed ), and solve :
abC = s
3 ® A numbev decreased b:, 19
@ TF Y% =4 gtﬂd Y4=n5 s B2, Find +he numbev

then Hx =n
@) 67 decreased by twice o
rvmber is 39, Find +he
numbev,
@ Pow old s Tyvrone if twice
his age increased by 171s 53
u Problems @ T
Twenty - Seven Years agqo
ALGEBRAIC EXPRESSIONS T s 2 e C9% s
- & PROBLEM SOLVING she pow ¢ |
Weite an ‘alge,bm'\c ex ~ @ Bill is fve nches ol
pression for =ach: Hhan Pob and the Suw
of théwe heights s 137
MO A number decreased by ches. How Fall s Bob 7
nne.
Twice Mary Lou’s heighf
@ Twice a number mcreased By 17 inches 1S

M inches T How tall s she b

@ Robs dad (s +wenty-Seven
years older +nan” Bob The
Som of Fheie ages e

oS CXSO ras g Ve,

wereased by
fourteen

@ Two less than
'F;)LN' 'HMQS [

numbev
ow old 18 Rob now 7
@ The Proc\ud' of a nuwmber
increased by Five and @ The sum oF the ages st
three less +han four mys. Black and hec c\augwf?v(‘
+wmes the vumbew. 1S —P»,-(:f-j -Six, E{gl/\‘\' Years

From von, Mes, Bladk wiil
be twice hee daugh‘i’evﬁ age.
How old is hev c\auﬁwhev- ow”

@The sum of Billk oge ond
Rcuj's oage s ‘Fi'Fi-g ve
cars aco, Bill was exactly
Fhree Hmes Roy's age . How

_‘5_;




old will Bill be nexdt year?
(D Alice is twewlty- o years
older than Ger?, Thice
Yyears ago Gert was ex-

oy half Alice’s age, How
old ’2 Gert this Year ©

® Sheila is the same age
now That her sister
wos Two years :@0. Nexcl
Year, The sum i
Zees w)ll be focty-two.
How old s ShellasTsister
This Year s

1 -3 Problems

EVALUATING & SIMPLIFYING
ALGEBRAIC EXPRESSIONS

Evaluade each expression

a=-2, b=2, c= -l
O 2a-2b
@ b-3c
@ 20b-c*
@ Yac +b>
@) 20 (b-¢) (@ 2a+2hc’®
© 2b(2c-22) @ 2ala-c)
@ Hatb -2ac b2lac+ 30)

® 2ab

2a%C

(@ -3bc
ack

@ a%c -Qabce
@ -2alb-2ct

Simplity each expression
® 3n-m + Hn + bm
26 ~3b -Ba+ b

@ 2 x+y) —3x

® H4n-a(m-2n)

@ 2%* -2xy + A x(x-Y)
@ 2a Cotb) -2ab —a*
é) u(aa-1)-3(2-a)
@ -2 (b-2) +4(3-2b)
@ o.-3b (a-D+b

@) ax -dx (y-2)+t3Ixy

Review

Write an algebraic ex—
pression fov each:

@) Three less +han twice a
Nnumbpey

@The product of a number

-l




increased by one and
+wice The "number de-
crensecd oy Seven

Detine a variable,estab”
hsh o key Cas needed),
and solve *

@ Sve 1s eght Jears older
Fnan Mary. In foor years,
Mary wil” be half Sve’s
age. How od was Mary
lost Year ©

The som of Barts age and
Tm*s oge is_Thirky, Nine
Yyears ago, Bart was Hwice
as old 0 Tim. tow old
i« RPoxt now T

GARFIELD 1 JUST
FED YO0 A HALF
HOUR AGO

PO w0U
KNOW HOW
LONG THAT

15 IN CAT
MINUTES?

JoM DA 19

Ic\en-\%ﬁ_ﬁ +he ﬁ)rope-r'h__j :

2 | 3ab _
30b -3 I

T 2xy=n,then n= x4
CGD) 2a = ()0

@d Y4ab-c = Hob -C
@@ 4 m) = Hndiwm)
@D 6+ 20b>*=2ab*+6

Unit 1

e
REVEW &
PROBLEMS 1
T dentfy +he propecty:
D Ha -3 = Ha-3
@ (0b) = a whole num bey
G Ixy -1 = Hxy

@ If 32x =2y and 24 = 2,
+hen 3x= Z

@ !

20
® Qabe = (B+H)abe

@ 20 + (x+29)= (F2y) +2a.
® i2n= O+ 12n |

@ Yo (a+b) = Hor+4Halb

. 2a0* = |

© Ceb)(3x) = Bx)(ab)

@ 2n (mp) = 2nm (p)

@ TF 4xy =92 +hen y=1xy
@) -5n* +5n =0

@ o +2b = 2b+Ta

® 0=2n-0

@ 5+ @x+3)= (5+2x)+3

@) IF 3n=m> +hen
2n-2mp = m*-2wmpP

-]




Write an algebraic
express fon:

® Threee less +han ve Hmes
a num bevr

Twice o number increased
by Seven

The product of a number

decreased by Nine and
+hree +Hmes the numbev

@) The sum of twice a
Numbeyr and FTwo Jess
+han foue himes +the
Nnum ber

Define a variable, estab
hsh a key (as needed),
and SoWwe*

@) Twice a numbevr decreasec

ba +welve 18 two, Fnd
-H%e Nnum bhev:

@) Three morve
+han fouv
+imes a
Num bex
s *lwenhj
seven.
Find
+he

num bev,

&) Symon is four Years
older +han AvE, Six
ears ago, Simon was
+hree +imes Ar¥s age.
How old will Simon
in Jwo Yyears Ke

G5) Retry is Six years Younger

+han Jean, Four years Xgo
Be'\—""\ﬂ was hatF Jeans
oge. . Fow mawn eors
£com Now will J8an bea

twenty -one Years old T

@ Jennifer and Liz ace
sistecs. The Sum of +heic
ages is fourteen, Two
years from Now, Fenniter
will be fice as od as
Liz.. How man Years

older is Jenniter ¢

The Som of +he ages of
Evan and Kesta Tis
-’rwenf;—'?our, Six Years
ago, Evan was three
Hmes as old. How old
was Keista last year e

Evaluate each €xpression :
X-‘-‘-—l) G =-2, 2=3

Bxy - 2%

lxz‘:j*L'}E

@ BCX—Z\j)“{jZ

@) Hy -2 (2x+9)

@ -ZX\ﬁ - x3 z :

@ 2% @ X ) =&
Ax* 2 2.x5
con+inved

L




Simplify each
expression:

@ 0.+ 2¢ —-3a —-2¢

&) Hx -~y -5x -3y

D 2(3n-m) ~2n +m
@9 “a-30a-N+2n

2x (X=29) =3(x*+1)
@ 20b - 3(a-3ab) +2a
@) ox-2x (x+3) ~3x*
@ 4n(m-nd -3m (n=1)
GY 7x —3(x=24)+5xy

Unit 1

SKILL CHECK

Tdent+ty the pro perty:

@ (dxy=) ()= vxy>

@ 2% * - 2y >
3ak 200

® S’}abc = Rabae
® TF o®b =¢,then =g

>b

Write an aloe braic expeession’

® Tre product of +wo less +han
+wice a numbev and +hree
“Mmove +hann +he numbevr

Define O\ Varm,b!e establish
a key Cas ﬂeecled) and Solve:

@ Twelve less +han foue hmes
& number s sm'i-een Fmd
+he number

@ The sum of Ren's aara cmcl
Bl age is twenty-fovr.
Sit d4ears ago, Bl was twice

as old as Bent. tow oid will
Ben be on his next bw—i-hdaﬂ

Evaluvate each expfessmn
X="3, Y=-l, B@=2
@ 2(2x%x-9)
@ Q_‘x.ﬂS-SXE"
2y -3(xy~-2)

Simplify each expression:
@ Hob -3a (b-2a) -Ba™

- ® 3G =xy) - 2ax(x-4y) —2x Y

@ a(2a-b) ~ak -2 (a>-b)

conthinued
. ~q—




Solve:

Three Jears Trom now,
:J-én_n;ﬂ will be hwuice

Crongs age. Two years
agqo | Jenny was seven

+imes as ald as Gag.
What is the som of
their ages right now:

Unit 1 :

REMEDIATION

Iden'H‘Fj the property:

® Hx+3y = 3y +4X%
@ alab) = (aa)b
@ 212 (Vorr)=|
@ 2x*™ = 3x*Y

write an aloebraic
exp ress’ion:

B The sum of Hhree more
T than a aumber and
£ive less +thawn fouv
Fmes O nuwmber

TICK

Define a variable | establish
a key (as needed), and Sclve:

@ Three more Hhan fwice a
nom e 1s Twenty - Five,
Fvnd The pumbér,

@D Ann is twice Murray’s age.
Eignt years age, Ann was
Four Himes Murrays age.
thuw old was Mwray fwo

years ago

M PAYES 15

T

LET'S NOT BE FORGETTING WHO'S THE
CENTER OF THE UNIVERSE HERE, PAL

Cvolugle each expression:
a=2 b=~-2 )c:-j

® 2 (3b-C)
@ 3ab>* 2b°
® 3ac -2 (be-a)




Simplify @ach expression
D 2xy-32Hx-Dr2-x2

® 2a (G -ab)-3a® @-b)-a*b
@ Hx (x~2y)=-xy-3 (x2+%x4)

GARFIELD, FOR ONCE | -
I'P LIKE A GOOD

NIGHT'S SLEEP

Umt 1

) -EXTRA PRACTICE

| 'Id@nfﬁwotg 'H!Q,'Pm{:er@ :
@ IF nz—‘:&'%xv ’rhén Zx=n*

5 2N

® TFa=b and bz ¢ then c=0

®GN@=0
® Ha +2b = 2btHo

Sowe !

@ Four geays ogo Torm was Ruc
O

Hmes o5 old as Jerry. Two
eacs tcom now, Tom will

%Q. Hfwice JeW3s age Howd
old was Toy last year ?

..ANP THE FLARES

YOU ARE NO
FUN, ©@OU
KNOW THAT?

© BXZA-O =3x>

wr4+e an a[gebra\c
CXPFCSSIO\H

| @ que\ve less ﬁnam

'eree Himes a hum

{® The product of ﬁm— s

ess Than twice o

number and Fve more.
'H')QVI ’W}e numbew" '




Define o vamabl
establish a Kev
ond solve :

@ Four less than hmce
nombex is Sixteen, md
the hum bey.

Dennis four yeats goonger

than mm:gcweﬂ* S dears
- ago, fﬂa,rgq,(x;i‘ UuOS*Hn ee

hmes as o\ as Donnis,

old was Masgaret losk 5@1(\2

©Tne sum of Dobies age
ond Ma, nmds age s
Ahivty - Five S
B o, Dobie il b

Ywice Madnards age, How
| lcl (s m%tmﬂ n%%e?

(45 needed),

| Eva\ vode each @(Q(SSS!OYI:
X = 5?’:-_—9\ 2 = =3

@ 2x+Y
@3y2-22
@ 2 (x+2)~2y
@2><5 2 --->’3

Simp\\ﬁ‘g @xch (-N;fess;on
® 3% -2y + %~ Hy

@ 30 -2(4o+3) -5
2y* -4y (< -*lj) + b6 xY

Solve:

@ Three Yyears ago, Mike
was Fhree hmes Tony’s
age. . Theee t:‘ s Rrom
nouu Nike will be twice

oS o\d as 'ﬁ)ng HOUJ
old s Mike now 2

SlmphﬁA

'@ o™ Bab+20b30) 30

| GARFIELD, LET'S THINK NICE
_— THOLGHTS TOPAY

Tk OBNES 8.8 .

I'Mm. -
BARBECLING
A SMALL
WOOPLAND
CREATURE

1'M FLOATING
ON A CLOUP




Solving ‘Equations

Lesson 2 l1 | F® lba - 12b - —Ya b
MULTIPLY & DIVIDE TO - 3
SIMPLIFY EXPRESSIONS ce s
2R =109 |2 =154
Use the distribotive 3 = T
proper ty To Simphfy:
@ = Z (Qa- 12k ——(sbwm.)
Ga 2b-bb-9a Lesson 2 2
a5 SOLVING EQUATIONS &
WORKING WITH VARIABLES
20 J;,:(Ex-)Og;) "'jg (x+ 63) Solve. each equation :

Ex -5y -3% -2y

2 x-5y-Zx-2y
Lx 79

Sl}np'f@ cach expression :

3@ 12 % 8y = [x-2y] 28 Y4(x-3) = 2x~2(5-%)-2
Hx-12 = 2x-10+2axX -2
H® -14n+20M _ {“n+iOm By -2 = Hx -
L} Z
-l = -l

Tdenhty
All Soluotions




20 2-3(a-1) = a=-200a+1) 7@ So\wve fovr o

Z-2a+3=A-Ha - ab-c =3a-2b
N-3a = -3a -2 ab-2q = C.-"lb
h=-2 False Equation a(b-2)= c-2b
No Solotions a= £-202
b-2
N® 2n-2 - H(n+2) o= C=2b o b#gl
2 ‘ b“‘3
2n-2 - HnFlx
7 - 2
2(2Zn-2) = '7(‘4‘0-&-\).)
bn-u = 283N +EY Lesson 2.3
22N = B3 INTEGER PROBLEMS

=%

For each problem, detine
a voriable and wse an

5® Sojve FO‘(‘ X3 equa:}-ion +o Solve:

2ox — bc =d
| 2ax = d+ bc

1@ Twice & number decreased

b‘ﬂ Six 1S 'G)\("h_/) -foue. Find
+he number. :

X = d+be for 0#0 n = the nuwmbeyr

2a
2n -6 = 44
2Zn = B0
® ; |
L® Solve for n o=
2a.+n - |
C -
. 2@ Tour Mimes a number
200+ n = b decveased by two less Than
: +uice Hhe numbev i twelve.

Find the number.




n=4+he numbeyr -6 X

5] < + |
Hn -~ (2n=2) =12 Be sure -} x4+ 2
~ - +o use
Hn=2n 32 =12 C >y 2 (x)-3(%+2) =0
2Zn =10 In The A% =-3x ~-b =0
n= ee:]ua,hon —-K = G
% = —~b
2@ A rectangle s Hem longex
than i € wide, The
Ameter is 42 em. Find
+he area,
~ Lesson 2.4
gL ;j n+5% i :
n RATIO, PROPORTION,
! ~ AND PERCENT
2 2 (neB)= 42 1@ Find 43 % of 80
=42
Zn+2n +10 {_+ _D___ - "'}.63-5-
Hn+ 1o = Y42 whole 80O | 0O
Hn = 32 |
n=12a loon = 370

n=[3.7]
abemate method:
43 % = 04625
o465 x 80 = 3.7

Sidest N8 nN+5 =13
ateat €. 13 = IO Cm*

1@ Find the middle of three
Consecutive integevs if

twice the smalTest . N
decreased by three hmes 20 $2142.25 s (043 % ot
the lavgest is O. what 2

| 2143. 25 _ [04.5

whole N 100
o4, 5 n = 214225

n=2050 E2059]

_.|u_}.'..




2@ Jock paid $25.92 for
o briefcase on sale for
20 %o of€. tHow much
did he Save <

purchase pC. 25.92_ 89
ortginal PC. n_ oo
L0On = 2592

N =%2.+

org. pr. — purch. pr. = Sav.
$32.40 - $25.92 = [$6.43]

H@® Al earns $275 per week
n salary plus 8%
commission on all Sales.
How much must he sell
during a ‘three week

eviod 4o take home &

Roml ofd22085 7?

N = avnount of Sales

. Oxn + 3(275) = 2308
L0g N+ 225 = 2305

.08 n = |H4%0
oN= [8' 500 $18LSOO
I THINK T'LL GO
WRESTLE A
MEAT LOAF

2 ] 1 Problems

MULTIPLY & DIVIDE TO
SIMPLIFY EXPRESSIONS

Use t+he disthbuhive. property
Yo symp)ify each expression:

% (x+84) - 5 (ox+ay)
=2
7
3 (Ha-12b)+§ (lba +48b)
= (-24a+36 b)+ 3 (60a-2b)
L Hoa+ib)+r $a-3b)

$(Za-2b)-3(Fa-1b)

(21x+350) + 1 Bsx-2a)

Simpltfy cach expression
(i€ ?;osg\bie%!




2.2 © 2 - a
N Probiems o -8

SOLVING EQUATIONS &
WORKING WITH VARIABLES Solve @ach equation fov x ¢
Solve each equotion : D x+v=2d
© uxth < g 5x =9
@ 4n+8 . 7 © %—(— =t
e 2 x+a
® 20-5 _ 45 5 - ©
Q 1_7% @ ox+b =C
=== @ ex -2y=3%

@ 2-49x = j0x +10
® 3Ix-S = Tx+7
@ 7+ 2n = 21+ 2n 2 3
® -5x-1=-5x%-I a2 &J Problems
@ -2(n+3)=3(n=1) INTEGER PROBLEMS
® 4(a 1) = ~lo (a-5) For each problem, detine
_ a vamo.ble ond use av\
@ -2(2%-2) = 6 -4x%x equat-ion 1o solve :
(2 sn+4d = 7(M+))-2n Q) Twice a num ber (nereased
N by four times the number
B 2(x-5)= & (lox-295) is nme-\-j—Ssx Find +he
- num bev
@ 4Gn-8) =L (44an+70) ,
@ Twice a Number increased
@ 2n-6 _ 3(n+d) by ‘hoelve is +hirhy-one less

2 - 3 +han +nree himes the
num ber. Find +he number

..-.\b_.




®

@

@

A nuomber Adecreased b?
Live less +han Fwice <e\f
ic nwme. Find +he number

Five Himes a pumber de-
creased by Toor more +han
twoice Hhe number is N9,
Find e number.

A rectangular play ground
s 60m longeyr han WS
wide. I+ can be enclosed
by 920m of fencing. Find
its length. :

A soccer Fied is T3 yards

shocter than 3 times s
wrdd+, I+s permeter Is
270 5ards. ie;fncl s
dimensions.

Rrad bought a used bike
For 38 more than half
s oniginal price. Brad

d $90 for +the bike,
Wwhat was +he original
price ¢

The lengths of +he sdes
of a +riangle are con -
secuhive odd integees. I¥
the permeter IS 27 cm,
£ind the longest side.

nd Four consecuhive even
{w\-eaers such Fhat twice
+he least Mmcreased b
the greatest is 96,

@ Fnd the largest of <four

consecu Hve vdd integers
cuch that The sum of the

Fest and Fwice the second

s 175,

Review
Simpiify ach expression :
@ % (~x-24) —% (Hy +2x)

> 28x¥3549
.-2_‘

Solve each egquation $b¢ X ¢

@ 20+ 8x +b = ax
D Bx=2 — 2G-x)
-5

2 m 4 Problems

RATIO, PROPORTION,
AND PERCENT

Solve cach prob!em:
O 2% is 20% of what pumber 7
@ 27 is what percent of 296 7

@ Evnd 4.2% of $6070,

& Find 6% % of 3 9.40,
—)7-




@ June carns 3125

® $7030.50 is 107% % of what?
® $54 000 is 108 2 % of what!
@ Find O.1% of $5000

@ A is 60 % of what number ¢
@ Janice scored 85 % on the

lact test. She answeved
34 queshons Corqecﬂj.
How many iueshons wevre
on the 4es+? '

Tn a 180 kg
sample of ove,
Treve was
3o20}0 me+a"-
How mawny kg
of metal wevre
v Fhe sampe?

Henrg pod 2145 for a
video that was on Sale
Foy 25% off Pow much
did he save on The
pucchase of +he video 7

Sandra. saved $2.72 on
a sweateyr That was
moacked cdown 3°%. How
much did she pay tor
+he sweatevr during the
sale ¢

P week
n Sala\rﬂ and 8% commission
onn a)) Sales. Houw, much

dd she sell n order 1@
earn $200 \n one week 7

Vic earns $320 per week
W salary and B5.5% com-

m!'SS.IOY‘ o Sales. How much
Ahd he sell o carm $551 WM
‘one week ?

@ Charlie eaens 3216 each

week and 6% commission,
dow much did he sell o
take home $375 duving

a 3 week period last movith 7

(® kevi earns $190 per week
plus 1.5%lo Commissiay, How
much did he sell to tnke
home $665 dunng a 2 week
pecriod 7

Rou
Simphfy eadn expression?

@+ (Fa-19)-3 (Gb-4a)

24a-36b
-\g

Selve each
@q vahon:

® »(4n-2)= % (an-a)+6n

@ 2(2x-1) . Sx+4
7

a

Solve for a
@) »ab ~c = 2ac
Solve !

@) B rectangle has a length
H inches more than Huice

_|%.-




© ® © ©® 00

i+s width and a penmeter
of Sb inches. Determing
+he area.

Find the largest of Three

consecuhve ntegers W

+three Hmes the Smallest

decreased by Joice the
mddie one 15 v

Unit 2

REVIEW
PROBLEMS

Simplify each expression :
Z (ax-6y) -g (8y -+

L (Ha-3b)- L (6b +8a)

12a — 12 b

G
-2bm + 18

12

20a—-15b

=10

Solve each equod'l'on :

®_‘_2~2§.5t5--_—1x+15

@ 3(4n-1)= 2 Bn+y)+bn
© 5 (b-3x)= 30(x+4)

@ L Bn-4) = 2n-|

@ 2 (n+3) = 2-3n

ty -9
@ 2n+4y) - En+7
-3 12

Sotve for %

| ® Hox -ab = 3c -Cx

® 29+ 3ax = Yy + %

For each problem, define
a voctable ancd use awn
equation to Solve:

@ Twice & number decveased
by three move than fouwr
+Fmes the numbey is
negad'\'ve +mrteen. Find the
num ben

A number decreased b
Frve less than Twice '123@\{-\
s seven. Pind the number

(9 The length of a rectangle 1s

two lesS than Fhree {‘imes
Ve widdh. IF the perimeter
is 28 ewm, what is the area ke




@9 T an 150sceles nangle, Solve!
the coparvent syes are . |
three ~move than Jwice the @ 24 is what percent of 64 ?
bose. Find +he measvre , N
of +he base € the penmeter Find 25 % of 95,
s 4\ wmches. 2
@ $210.75 is 1052 % of what?
I FAILTO SEE

. ' L
WHAT® 20 CUTE $149.10 is 1065 % of what ?
@5))

G A vadio was on sak Tor 10 %
ofF. I Rob paid $30.60 for
e vadio, what was the org-
nal price 7

6o Marty saved $5.40 on a
jacket fhat was marked

@) Find +he second lavoest of dowony 5%, tow much did
four consecuive integecs Macky pay For The Jjacket 7
£ +he SmallesT incredsed
by three himes +he G Christopvier is paid #170 per
largest is 1. week jn Salary and 12°%0

, commission on sales. What

@) Determine the lrgest of are his sales ¥ he Fakes
theee Conseculive Integecs home $91& duning a three
if the lavgest deareased week peciod?’

by one move than fwice
+he smallest is 8.

@ Fnd the middle of Three
Consecutive odd integers
W twice the lawgest de -
creased by the middie
one s +hirteen,

@) Find +he largest of +hree |
consecutive Cven {n+e9ev-5 @ MQggte carns 32085 per

£ dnree times the smallest  eek and TE Y% commission

decreased by twice the on sales. I¥ she took

laraest is equal +o0 Fwo. home 3620 during a two
- week period lasy month,
77 )N NS detevrmine her sales durin
ég@- +hot peﬂ'od. 3




Unit 2

SKILL CHECK

Smphi £y each expression :

oY -
@ q(ﬂ—z) =N
A 2(5%-3)= 7K1 +3X
® 2(2n-4) - Hn-H4
a3 2.
Solve for x -

@ 2x-ak = 3c-2ab
® Xy —2n = Ax + 5

Solve !

@ The length of a rectangle
s +hree Times The wi
and the perimetev is 32
inches . Find The area.

Find the middle of +hree
consecutive integers i the
largest clecreasecl by +wo

Mmore +han tfwice +the smali-
est is ten.

@ Find “{--g— % of 120.
@ $84.Ho is 105% % of what ?
@ Jon paid $2l12 for o radio

on sale atr 12% o How
moch cid she save 7

@ Terrg earns $220 pexr week
plus” 65 % (ommisSion on
soles. How much moest she
sell over a +hree week
period o take home $476 7

['M GOING TO THE KITCHEN
TO BAKE 40 POZEN COOKIES!

AND FiX YOURSELF
A LITTLE SOMETHING!
O
0

"ll—




Unit 2

REMEDIATION

Simplify each expression :

® %(37(-!13)-% C205+5x)
@D 14n -2Im
._,'._}
Zolve each
equation:
& -—-———-—5';:—7 = 2n—06
@ + x-4) = x=7
® 4 (a-3)=2 (3a~6)-2a
© 2(5n-)) - 2n+)
-8 -2
Solve fov N
@D 2a-4n = 2a+b
@ Nm +x = XY - 2N

Solve

@ Thre perimeter of a
rectangle is Qo m. The

length (s one less +han -

S Fimes the wdth.
Find the dimensions.,

Find the largest of four

consecutive odd integevs

£ three himes +he largest
o\eqeased by Two more Fhan
fwice the smollest js eleven.

@ ‘F\Y\d C’)%} °/° O‘(: 5"‘]'
@ $7.75- \s |2"5_ % of whad‘?

@ Sam saved $2.90 on o CD
ot was on sale for 20%
ofF. tow much did he pay”?

@ Bill earns 3125 r week
plus 84 % Commission on
ol ‘sales. How much did he

sell in a four week peciod >
F he earns o fohal ot $599

OPIE, 1 PON'T LIKE
WOUR ATTITUPE

-2 -




unit2 |
EXTRA PRACTICE

Simplify eath Wa’: -'
Z@x-)-F(ex2u)
® 15a.-20b
5

—-I2><.--lva4
® =% 104

Sclve each equation:
@ Hn-2 _ _
M A
| _@ H (2%-8) =2(+x+3)
@3 &)= 282

O '3.- (2n-2)= 2(nt1)-2

@ 30-20nH)=8-50h)

@ 4@-3 ~ "3((1.—!_-_):)
7 )
Solve for X
@® Bo+2% =3¢

Solwe -

@D Feur times & number
decreased by eight
is negahve fwenty -
Find Fhe number.

@ The length of a tectange

is fwo less than three
Himes the width, The
pecmeted is 20 mches.

Find the -ci{'!Mens'lons. i

® Find Hhe lacgest oF three conseartive
odd ntegers W the largest deor
Hwice the cmallest is s)cteen
more. Than the middie one.

@ B le what peccent of Ho?

® Find 2% % oF 80.
$22.40 s 60 % of what?

@ selena pard $165. 30 for a DVD.
+hat was on salke tor 5% ofE
Whot was +he orginal grice £

@ Paul earns o salary of 4310
 per week plus 6% o his sales..
- Determine his sales 't he fakes
home $ 1122 over a +hree week

period of Pme .

Solve, for X !
20.+bX = 7-CX

Solve :

@ Find the middle of three

T eonsecutive miegeds i theed
+imes +he Smallest decreased by
+wice +he lamgest is fwo more
Than twie the smallest.




Solving Inequalities

Change

Lesson 3-1 o ' @ 2(n-2) > H-4n dzzonv?u'r?ﬂw
SOLVING INEQUALITIES ® T D T e
% GRAPHING SOLUTIONS a6 5 U

_ | b > Hn-4

Solve each inequality and 5 (2n-6) 2 2 (Hn-)
graph the solohion I0n-20 2 lan =%

| ® 2(n+5) &£ Hn‘ﬂ-lb | —~2n Z 1%

2n+10 £ Hn+lb n<

n_2~3>l -9
é____—_q

.—3 o

DON'T FORGET

ANP I'M REAPY
YOUR ‘og-HTE

| 7O CONQUER
THE WORLD!

¥
2. Q\X"F%' < X—F

10% +2% < 5% =40
13 < Ex —40 ‘

B £ =4O

X<-5

— >

20 4x-% > 2(4x-5) @ 4 (3n-8) < 2 (n-3) |
Yx -5 > 8x =10 12 =20 £ 1an=6
A > 55 -20 < -6 Tdenhity
< SAa Bl Solutons |

(————)— > M

e

%,




-4<Ln 2
Tntersechon

o 2n-5 > An
2 = 6

6 (3n-5) > 2 (@n)

EN=-30 2 I18n
S oS

=30 2 O HRalse Ivequality — 2

No So)uh‘ons]

\

5@ a5 and a<2
Tntersechon

>
7

<
<

There are no pownts Z&
ond < 2. No selutions,

0 3.2 >
Lesson W=

GRAPHING UNIONS & 0@ x<2 ond X< -3
INTERSECTIONS R FTorsaTon
Write each compound e <oloton should be

Sentence without Yand”!
1® ~6<n a Nn<2

—b4dn £

weitten as X =3, These
poinYs sa'l-ns-@ both (n—
equalities.

A4

20 x > wd x<%
H/"{-< X <q/2_

CGraph the solution for
each and \denhfyas a
K Y 7@ x < 2 of % <73

Unloy or integsectian:
of > < -} llAnion_

These points satisfy one
nequality of the other.

s ' Mﬁ >

_.’2._‘,_

2@ X >5

Uniton




z@® a>-3 oL a2

Union

Al points safisfy ene
ine quality oL +he other.

M

Pt each inequatity
Final Foem o?ncl é@a}:h
+he soluthon:

9@ 2x-3<5 o a-x<-7
Ax<Ld of —%xX<-9

<44 oL %x>9

x< 14 oL x >9]

4 9

0® N—-4 < 2n-4 £ N+

Nt <2n =4 oM@ 2n-4< N2
o< n ot n=6

lo<n <6

@ X £2 ax‘/d k-1 > =13
3x > 12
X > -4

[X#2 o8 x>-4
@;—Mﬁ

e 2

2@ x-5 < x-8 £ X+3
*5 4 k-8 af)_..d R=F £ K+3
-5<-8 o -82 3
False) (Troe)
Sinee this & an ivilevsechon,

only ponts thet sahisty,
both jvequalities ave savions,

No Solutions

<
~

\'%

20 2n -4 >-4 of Nn+5 2%

2n >0
n >0

of nz3

n >0  This one inequality
describes the unon

< M

O

Write the wmpound serfence
oY ’mqualﬁy For each graph!

4 @ £ Ge——————————>
-5 >

-5 £ x<L3

—.25 -




15 @ Cmmm—C————— C—
-5 ! -

X<=-5 of x|

— Qr———

b ® <
- 3

x=-l omd x#3

Lesson 3-3

PROBLEM SOLVING
WITH INEQUALITIES

Use awn inequality to solve:

|® The car wash funel vaiser
earns o profit of $1.500n
each v, How mawny Cars
must be washed fo @arn af
least $35 7

.50 2 85
N> 56.6

(At leagt BT cars

N= number of cars washed
2@ Three hmes
an integec

decreasecl by

Five gives a result between

et'%]lﬁ-een and twenty
What are +he integens 7

N = +he teger (=)

-geven.

12 € 3n -5<27

8 <3n-5 omd 3n -5<27
2343n  ad 3n<32

23 32
-34.“ a,vl\.‘.\ n < =

23 32
=5 e n<-——3
: =2
7¥5<n< 0%

Possible iTieger
Velues !

Z,9Q, 10

30 The sum of two consecuhve
Positive odd integers is at
most 23 awnd ot least 1.
what are +he integevs T

8
N+ 2

H f-_ n) + (n+2) £ 23

I} £ 2n+2 aﬂ‘,“- 2n+2 £ 23
A4 2n wd 2nz 2

q 2
S 4N 9& Y\_‘_'{!

a Z #
Zén"’—

t4n< o3

I

n.i‘s odd ¢ Mmust be 5')7)0(‘6‘

Y 51 |7 q
n+2 {74 A5 M

...2@._




Lesson 3.4

EQUATIONS & INEQUALITIES

WITH ABSOLUTE VALUE
Solve and graph:
1® | x| =4
x=4 of X=-H| union
&  a o- >
-4

N=jo of nNn=-4Y

S 4
i 7o)

Abksolute Value 't

Equation = .Unjon
Inequal \+‘j < TIvitersection
Ivnequality > Union

3@ 19+3] <06
9+3< & and y+3>-¢
4<3 og_\g\ v >-9

—-q< Yy<3

Tnilersection

Always pot an witersection

<
-9 3

i compound nequality form.

He |g-axl 24

g-2x >4 of s-2x% ~h
“AxZ -4 of —2x< -2

X£L2 ¢ X206

Union

z G

F@®|n+3|+8 < 4
N+l £ -4

An absolute value cannct
be less fhan or equal 1O
o negatwe valve.

No Solutons

pd
~

A4

6® |4 +3]+2 7]
ly +31 > =i

An absolute value 1s alu{dvgs
greater +han a negahve.

AN Soluthions

ﬁ

Lessdn 3.5

MORE PRACTICE WITH
ABSOLUTE VALUE

This sechon provides more
practice wrth absolute
value equations ancl in-
equalities.

_-:)_‘7.-
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2 (n+3) >

3 ] 1 Problems

SOLVING INEQUALITIES
& GRAPHING SOLUTIONS |

Selve each i eqgual d‘g
graph -Hne solution’

20 -2 < 2 (n-3)

4 (2x-1) 2z Gx-10

3x+5 2 365-2(2x+l)
=19 < 587 -3(3n-5)
200+ 4 > Sla+x)~7
Hx+9 > 3(2x+4) +7
200 +

3n—2

2 2 3 QasNts
> 2 (n-5)+4
241

5 =3

X=3 5 2 (<+3)
o 3

—-§ -a =2 3 (Ho~t)
5n

\2""':;

3(3*2-) S

< 2 (BSn-\)

ex

cmo\-

3 ] 2 Problems

GRAPHING UNIONS &
INTERSECTIONS

write each compovnd |
Sentence witrhout “and

D -37% awd x>~7
OP>‘3‘@.‘£‘§ Py
® yetad y273
@ m ‘ga_ﬁé m>"~5}

@@@@

Graph “+he SQlu'hOV\ and
identify as a W oV
intersection :

r>2 ol Y£-2

%> -5 oand x <O

THANK 400,
THANK 0D

—28~




Put each inequality i
Final form and araph:

F+x <-4 of 3+ x 7Y
I+ b >4 o ~l+b<3
-5 < 4-3x <13

—2 =X £ 2x £ 3+ X
2% -] & 2x+& L 2%+ Y
N-1<2n+3 £ N+ 4y
B x #6¢ and 3Ix+l >10

2%+ £ 6 of x = 2x-4

@O O 606

Write the compound sentence
of Wiequality for each gaph!

%M——%

@, < g

H.._q \EH

< Mﬁ
O VA

D < m—s

AN
e

COME ON.LET'S GO
HOME FOR LUNCH

O NO THANKS. A
' [ JUST ATE Wi
+ i O .

0

@

3 n 3 Problems

PROBLEM SOLVING

WITH INEQUALITIES

Use an wequality to sohe:

The Daily Herald pays 15¢
per papev dehvered by
i+s Piest Yyear carvievs,
How many poapers mus+
be delivered for a carvier
10 eorn at least $5.30 ?

A bookstore makes a probit
of 3430 on each two =
volume set of s books.
How many Sets must be
sold for Hhe store o make
o proFit of ot least 3175 ¢

Duane earns $12,000 pex
Year plus G % commission
on sales, How much did
he sell (£ his income was
between $2),000 and $27,0007

ITF four Hmes an mieger s
increased by three | +he
result is behween +hirteen
and twenty-five. what

s the infegec ?

® The sum of +w<$ consecuhive

positive odd integers is af"
most 18, what ave +he

ntegers ? :

@ The som of Two Consecuh:ve

positive even integers 1S
ot most 22. What are the
mtegers 7




Review 3 . 4 Problems

Selve +he ineauality : EQUATIONS & INEQUALITIES
@ 2-2 < 3(3n-1) | WITH ABSOLUTE VALUE
@ 2Gx-4 o Hx-l Solve and graph :
> T2 @ Ix+4l=6
o , @ ly+11=5
Pot the nequality B @ Ixl+7=n
@ 3-2%<5 of 3x-|>-I0 @ Inl-4=3
Sn+2 > 17 a8 n#E7 @ ly-il<d @ Inz|+7>5
@ n-4 < 2n+) £ N+10 ® la-x1&€1 @ \dxrifr2£22
@ 2é+l >l of 3a. < a-6 @ li2-3%}> 12 @) |6x+613£33
ly+i) >4 @ laxn+32 )
@) |x-31+54¢2 @ hox+io|-1281
Review

Put each inequality in finol

UJY\""Q +he CDMPO\N\C‘ sentence ‘FON('M) \den-\-‘\ o asS A U on
or mequatity For each gruph: or intecsection, and graph:
@ pmm— sl (D) In+I<H 2L -1 27
B: g
: | 302 £ BrH} LAHN 622 XAO
@) & Gpemmm—c >
_“l o - '
Ase an 'mequah'i‘j to solve:
L _@* .
® < -2 6 @ Five himes an integer de-
, creosed by seven is at east
© ~5 ot Conhinued)

.._‘?;o...




22 and at most 34, Find
.+h€‘ inteqer.

- The Ssuwm 0{:. +wo tonsecutive
odd tegers js between -5

—

ond +13. (Wwhat are +he
ivhegers @

3 N 5 Problems

MORE PRACTICE WITH
ABSOLUTE VALUE

Solve each equation oY in~
equality and graph the

. - Soluhown:

@ [4n-21-1 <4
@ |Ix-51-3 > 2
& |

@

®

©

@

® l3n-2)+4 >2

Review
Solve and gragh :

@ M 4 n-o
H -2

LUY"\+2 +he COMPOUﬂd Sen tevce
without Yand" :

X > -8 ou!ﬁ X <0

Write +he ompound sentence:
-2 1

‘ ~Z > 5

Pot +he wequality in $inal
form and grapgh

® 2n -l <3n+6<n+8 and nE-2

Use an inequality to solve!:

@ Sherwin earns 318,000
er Year plus 5% com -
mission on all sales. How
mueh did he sell F s
necome was hetween
$21,600 and £24,500 2

@ Three times an integer
decreased by Tour is alr
least 2.1 and at mosi 37
Find the integer.
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Unit 3

REVIEW
PROBLEMS

Solve each inequality and
9roph ¥he solotion’:

Yin-3) £ 2(an-5)-6
2,0ax+1) > 4G+ 3x)+ 3
Ha + 3 = lCa.*-S?)_-'-f

20 1) < 3 (n-5)Y-n

5

2 (x+4)
2

2
2(n+5) , H-
3 -

X477

>

2(3n+s) < 3 (2n-1)
n-2 > Upn -3(n+i)

Weite each
Com pound
sentenece |
withouT Ya md

\
—24n ot uen A

%275 a ad x<3

Put in final form and graph:

2n-175of 4-3n 7 -2
H(x+H)>-8 ef 9-5x < -}

@ 3n+4d <3n-2 < 3n +)

@ n-5 2 2n+l £ n+
® 30.+4 <-5 and ~2a >4
® 4x = 2x+4 and -3(2x-4)£3
@ 3n-1 < 4N+TH <21+ 8
2x—2 >4 of Zx-l<
@ x-l< 2x< x+4apd x£0
3] £ and X #-2

write the com-

_pound sentence

and lde,nhf‘y os

O union oY

m'}'ersee:!'!on

'@<——e——t————>

B 4t

Use an nequedity ‘h: solve:

@9 Twice an integer (ncreased
by four is between 17 and
17 what is the integer ¢

@ Three imes an whegec
....3'}_-.




decreased by fowr is be-
tween —9 and +1. Find
+he integer,

@D Andrew earns 315,200
lus 6% C¢ommission on
sales. What ave his sales
‘F he +akes home between
$16,400 and $ 18,200 7

@ Bethy earns 311,100 plus
7% TCommisSiort on Sales.
IF she taukes home be -
+ween $12, 780 and $i6,230,
what weve her sales?

JON! THERE'S
A BIG HAIRY
SPIPER

IN THE
BATHROOM!

-1 A REALLY

. HAIR W

\ @ &PIPER!
\ T At

= ! 7 %

QD] Y

Wy

@) The sum p\C +hree con-
secuhive inteogevs Iis at
least 17 and a¥ most 26.
whet are +he integens ?

B The Sum of +hree consec-
vhve even integers is at
least -1 and at most +20,
What are the mtegevs ?

Solve and gmplﬁt
E) In+tl+y4 =7
6D |2x-4}l-3 =5
@) 13a-2)+4+ <3
@D lan+3)+4 2 2
G la+u] > 2
GO lan-\| 2 5
@) |x-6l-2 £ 10
G l2a+H) +1 <13

_33-..
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Uit 3
SKILL CHECK

Solve and graph:
2(n=-1) > Hn-7

3
—‘;_‘—1- B < 20n-1)- 3

2 C<+1) < 2x+1
2 L}

write as a compound
sentence without Mand ™ :

2a<6 M 3q = -9

Put in final form and
graph +he soluton:
2n-5 < +b L 2n+3

4 (x+4) £ Yx+8 £ 2(2x+5)
In P4 L -2 L 29-523
weitre the compound

sentence and identity as
a union or intersection ®

-1 ]

Use on imequality to selve:

tFour himes an even integer
decreased by +hree is be-
+tween —12 and 7. Find the
nteger,

@O Lavry earns % commission

on sales plvs a salary of
816,000, If he takes home
between $16,960 and

$21,600, what were his
sales 7

) Find hwo consecvhve odd

integers f ‘hwice Fhe
£irsT decreased by Fhe
second is atr least 2 and
ar most 8.

Solve and araph :

&

@ % -3 £ 3x+D L 2% 48 o2 x£ -
@ Jan-o4] -2 21
@ |3x+2) +4 <10

_.3l-[-._




Unit 3
REMEDIATION wirite the compaund i, as

o Union ov Intersechion :

Solve and graph:
9 é——%— >
- o

D 20a-3) £ 5a-3
D ) > n-y

Use an inequality to
Solve :

3@ 2(2n+2) > bn-"1 . .
2. 2 @ Twice an odd integer in~
‘ creased by three is at
least -4 dnd at most 1O,

Write as a compound Find +he integer.

sentence withoout "and'
) Pen Took home between
@ Bpn-1 £ 14 an? 2n+> > -l $ lb, %20 and 3 25,460
last vyear, I he earns
$12,500 In salary plus
12. % commission on Sales,
what weve his sales ?

@ Fnd +hree Consecut(ve
even ntegers W+ ¥he sum
of +he middle one ond
twice the |argest is
between =10 and 2.

YOU'RE GETTING A LITTLE L
PUDPGY THERE, GARFIELD

Putin Final form and Solve and grueh

graph the solvtion:
G 2x—6%£ 3x+4 £ X+ 12 @ [3n<n-g o 2n >0+ &) apd n-7

@ 2 (Hn -1« Zn+5 < 4(2an+3) @ |
@ 3o+1<-5 of 2046<3a-2 @) 12n-5]+3 £ 6

Sx+3| —l > 7




Unit 3 |

EXTRA PRACTICE

Solve. and graph:
@2z2o-6)< -6
@O-3(x2)Z 20 1)+3
@ 20+ < L |
@ -2Bx+2) Z 2(3)-NIx
® 2n+7 - 3(n-2)

_ = -

Write as o.'. mng:tIMA
wr¥hoot Sand“

© x>-2 2d x <4

| Solde and graph:
@D 3x-2<-8 U xT>3
@) X+ L Ix+G L XIS
@ Gn+5<2E@n+)< 3(zn{lj
@ X = 4% e 23 2%tk

@ nN-8 >3n-4 U NEG

write os a tompound

ond identy as a union o

ory m‘ersec:ﬁon :
(B ety ——Cmmm—

-2 4

B & Smm———>

Use. an inequality +o
SoWwe ! _

@D Threz Himes an integet
decreased by Bis
elween 12 and 5.
Find the integer

@ Five hmes av integex decreasat
by 2 is greater—than o
gmd less Tthan 25, Find +he.
integev.

d® Bruce earns # 14,200 plvs a
59 Commission on sajes.
Detecming his salkes H he
+akes home between
$21,200 and $25,200.

Solve and grnphl:
@ |2x-6| =z 12
@ l2x+6)-+ <0
(@ %3 <2AX+B < X+9
use an inequality o solve:

@D Find two consecutive add
inteaers & +he som of the
First and Foor times The
second i between 30 and
56.
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Cumulative Review

"W A! Y
Problems

QUARTER #1 REVIEW

Tdentify the property:

Tf a+7=2¢ and b=7,
+hen a+b = 2C

o.(m+n) = am +an

Weite an algebrae
expression

The sum of +hree more
+han +wice a Number and
Five less +han e number

Evalvate cach expression:
a=-2
b= ~|
c=+3

2ob*~-3bcC

2b%*-2Cac-b) -

Simplify each expression :
Exy -3x (2x -4y ) -21x*
“Ha (a-~2b) -3p (a+2b)+b™
Soive eoch equation :

3ng”f = 3n+10

@ BGn-2)= Hn+h) +3n -2

Solve the inequality*
© n+5 < 4 (3n-1)
3 12
Solve and graph:
D 2n-9 £ 3n-4 < n+8
@ 2x+3 £7 of 304> 6

Solve for n:
3 3n -2m = mn +

Define a variable, set up
an equation, avd solve!:

@ Mys. Benson is four himes
as old a5 her son Nick.
Six Years age ; Mrs. Benson
was +hree Hmes as old as

Nick wll be +Hwo alears
was

from nNow. thow o
Nick last year ?

(3 Twice & pumbver
mcreased by
Iz is 3l Jess
+hon 3 Himes
+he number.,
Find +he
number.




@® Sam’s backyard is 25 m
longer Than it s wide,
T+ can be enclosed by
70 m of fencing. wWhat
is the 3am\i§ aréa ¢

$$5.69 is lo4s %o of what?

TF +Hres are on Sale of
20% ofF, what 15 the

origmal price tor a se+
o-Fa‘i'\'res on Sale Fov 31287

@ @

Three Hives an even integer
decreased by o s

between & and 24. Find
+he integer.

Alex earns a vegulor
ooy of $HO0 a week
plus "t % Commission on
sales. TL he takes home
$520, what weve his
Soles’ For the week ?

WHAT'S THAT? OH NO, MY PEAR.
EVEN THOOGH YOU ARE JUST
-A LASAGNA,T APMIRE YOU
FOR YOUR MIND

Solve and grd,ph :
@) {4n~6] >0
@ Inl-3 £ -4
@ In-5) +3 < 3B

"W B "W
| ~ Problems

QUARTER #1 REVIEW

Tdentfy +he property:
QA 2mn (Tmn) =)

@ If -Tax*=3y, +hen
2y = —Tax*

write an olgebmic express-
ion Tor the Following !

(> The product of +hree less
+han a number and Two
more +han The sqguare of
+he same numbey.

Evaluate each expression:
x==, g=4, 2=~

@) -"><7‘*3><3
® 2%xy*+8=
4x3y

Simphvfy each expression:
® 2% (zj—x) ~-ax(3x+4)

@D =12wm =~ 20mwn
Im

Selve each equation:

@ 23Ca-4)-5a= a3
@ 6-%=9-2n




Solve the ineguality :
© H4(x-3) =2 g Cx-1)

Solve and graph :
M n+6 < 3n +10 £ N+ lb
@ a-3<4 o 3(a-2)<5a-2

Solve ‘FDf X
® 4(x-3y) = %y + Y=

Define a variable, set vp
an equathon’, and Solve:

@ Alice is hal¥ Foy's age.
G years ago, Fay was
2 fmes as” oldd as” Alice

was Y4 vears 090. How
much older is Fay fThan
Alice 2

B Twice the smallest of
+heee consecuhive even

integers cle creased b 9
+Hwes +he middie

three
mteger is n_ega.h‘ve +wo.
Find +he middle integen

© Two sides of an isosceles
triangle ave two inches
less tthan twice The
base, T the penmeter
is 26, Find +he base.

@ Wwhat is 223 % ofF 1407
® Sharon saved $10.80 on

a bookcase. Tf +he bookcase
was ont Sale fovr V5% o‘F"F)
how much did she poy ?

@ Eind a negahve odd in+e3&r
such Yhof G Movre +han
4 Hmes +he integer IS

éﬁeo:fef‘ Fhan =7 awnd less
an 19. Find the integer

& Julia @arns a salary of
$225 per week plus a 5%
Commission on Sales. Ovev
a +hree week period, Julia
+ook home. $ E15. what
weye her sales ?

Solve and graph on 4
numbev line:

@D lex -6 |-2 £ 1L
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| Problems

QUARTER #1 REVIEW
Tdentify the property:
26 + (2n-1)= (2n-1) + 34

® O

0= C3m2) + (3m*)

Write an algebraic
expressSion

@ The difference of an integer

cubad and three jess than
Four himes The integer.

Evalvate each expression:

a = 2
b=-2
c=-|
@ agbe-2bcd
B dbe - 2(ab*~1)
Simp\hy each expression
@ Hab -2a Ba-b) -3a*
@ 3x (2-y) - x>~ 3 (x*-xy)

Solve each equation:

@ M_n—.Bn

5 =

@ 2(3x-4)-2a1x= >—(%—2

Solve +he inequality :
© 2(n-3) > Y-
G q
Solve and grapgh :

M x-1 £ 3x+7 € 2x +8

® 2n-%>h & 2n-1 <-2

PIP Y00 KNOW IT TAKES LESS
EFFORT TO SMILE THAN TO FROWN?

ESPECIALLY WHEN LOUVE GOT
ONE OF THESE MASKS

Selve for n:
B 5x-3n = x*-Amn

Define a variable, set vp an
equation, and solve

™ The som of the ages of
—39-




mrs. Mec@nn and hee Son
Acthue is 7. In ) Years,
Mys. Me Cann Wil be +wice
as old os hey son. How
old is Arthur 2

5 Five Himes a number

decreased by negad-ive
two is neg ative +hirteen.
Fnd e number,

The garden is Loe feet

longer than 11 is wide,
If ¥ con be enclosed by
a Fifty-two oot fence,
whatr are the dimensions
of ¥he garden 2

@ I5 |s 18°% of what ?

THERE'S AN ARTICLE
HERE ABOUT CATS

The Hickets wece purchased

@D

Lov 51 20 after 20°%
was deducked From +he
original price. thw much
money was Soved *

One move than Pour Fimes
a posihve even mteger is
between -7 and 26. Find
the wrieoer.

Nick earns a weekly salary
of $175 plus 74 % com-
mssSion on Sales. What are

‘his sales iR he takes home

£ 725 over a two week
pevied 2

Solve and graph on a
number {ine °

@ x| +3 <« 2=

| Bn—10] +13 2 25

@ I3nl-6 < 12

HY READ ABOUT
IT WHEN YOU
CAN SCRATCH

: TS TUMMY ?

i
\/\—/
g = O
<) 0

SUf "AIRPUAS 3inead pRIUN £661 (»
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Quarterly Exam #1

REMEDIATION & EXTRA PRACTICE

Tdentify the property:

Oksy XY = . _and 2a= z

+hen x*y =z*
ab)c = a (bc)

@ ab+ Bé = 2¢ +ab

T 9n = 3y, +hen
35 = "Jrh

Evaluate cach e(pression:

a=-2 b=-1 c=2
@ 2ab*- cb®

abc + 2a*b

® 3bc -2b° + ac

2b - ac — b*c*

FAT-FAT-FATSO.

Simpht

® 3xy —2x(xHy)~2xy + 3"

a2b - 20 (atab) - Ba*

@ “Ha (o+b) - 2a (b-2a)
23y = 3x (3 -2)+ Y (x—3)

Solve  each equodion:

@ 2x+T - 4

2

3,,\__.__23n = 2(n+1)

3(3n-5)-4 =5

2 (2x-4)-2(x+3) = x—1|




Solve +he nequaldity @\ \zn-5[-8 < 3

@ 2(x-3) 5 2x* 2 [n+2 | -6 £ 4
5 3
3n=") « n-3 Define a variable set yp
A 2 an equa'!“'lon} and solve:
B, U—aﬂ s Y Times as old as
Solve €ov x - Pav]. Four years ago)fdj
. was twice the age +hat
2y +Bx = x4+3 Pavl will be +wo years
. _ ~ from now. How old was
?>><5' +2 = —2X ’*‘53 Jay last year ?
- AlberT 15 B Times as
Solve and graph: old as Jocy. Five years
000, Albert was +hree
@ %x~1 < 3x+2 £ x+8 s +Hhe age Joey
_ | witl be next year. How
Ox—b 4L 3x+8 £ X+14 -~ old was Joey Two Years
0g0 <

(2) Zn-5>9G of 3n-5<7 .
. fowr hmes an integer in-
N+2 £-5 of Z2n-3277 creased by B equals one
less than +he integer.
Find the integecn

Three less +han Twice
Gn teger eguals sevewn
moye Than Tour hmes
+the integer. Find it

@ A rectangle has a length
+wo inches moye. than
twice s width. T +he
Pecimeter s 22 I‘nChQS)




determine the avea. how much weve hev sles?

A rec-%jcm%le's lergth i Molly Gans $120 pex week
+hyee I C GS' less ’-anm ond” 9% CommisSion on
Three +imes 1+s Mdj‘”h- sales. After two weeks

Determine the avea s she tokes home $6&231.20.
The pemme'}-ex' is 34 n. that were heyv soles fov

The two week period 7
Pr clock 15 on sole For

5% off. TF 4he new Solve and graph :
purchase price s $I5.6',
how much money s @\x—5\<5 Gﬂi)(#“}

saved during +he salke 7

. 0 , |2x-3V27 aed x 27
The price of a video is
$9,12 after a 5% ofF
Coupon is applied fo the
purchase. Determine
+he orig;'naj pﬂ'ce.

Six more +Hhan Hwice a

negative even ntegeyr
is greater than -9 and
less +han 10. find +he

Mteger:

One more +han +hree
times a posihive odd
mteaer is greater +han
~12 and less +han I,

@ Janice ecarns o vegolar
weekly salary of 7$180
plus Iﬂz% CommisSIon o
soles. I+ she tukes home
$ 708 n one week




